HEAIS
3780-0830
3780-0642
3780-0643

2022. 12. 2.(3) ==
20224 128 1Y 22X 11:158E B8 & QEL|CL
19 XIFE2 M| A[=l(23E 5714, '24H 67H2)

o= @ 404
[ -

X

(=)
—_

]

| =

[

ru
o

CCTV Y STEAIA|, HES(1E) MK,
12k

0| E=XI=

L

=)

goeTil 295 5

- Sofi= 2SK|

- 245K 1174

O

Ll
&
T
oll

R

0%
R

- .
1O

<
M[n
<
Ho

<

<

[ -

R

M Al AL

=
o

ol

-

ol

ol

O|Ct.

-

A=

3

[ =
[I[e)

F

MX| 1074



4
=

ARAAER o] &A7} A

T
| N

o] #&3% Al¥o|r},

A T

7k
o

% AX| CHAKI(107H)

cix| A2 ES

dHE=,

= BeE

-
-lél-L,

)

o 5

O o

of =,
I, ol

XEAI
o=

H
T
oM Le

=
T
CHa

110

B
=0

i

|:.
[

O
—

]

E:

=
[

]

A Op

K

o0

(] CISez, ANEHER

1:,_]-_

]

>3

2 94

AAAEZ o] 7}

2 Ax

HEolA 15, 40m =oj%l tol] AXJst= f3()

soll AFoZ Eo] AA

7_11—

=

1
o

27 2SR, K| ARD

F

S

=

. 20 DRSS, ofols

s AX| CHARK|(471

X

3

H} )

£ (VMS, Variable Message Sign),

A AR &

=
(L

sl

[] ololl o

AOLE Al

K]

= I

I

| MIE O HE

=19
=Hrm)

oS

a

ol

==
1lo

T

I

L
ol

<

E TN

LH

XEA



Pt AGEA A

L

A, AAA, BYAT FEstol
°]

=
| N

i s X =
oAek oo,

—_—

=

2 10km/hr A& ‘H

&=
=
AFaL

Al

Ki

LHEFEH XA™AEZ MW T

A=

=4)0| CHatolct.

O|=,

e,

a1l

-

w0

M

ol

ot
[Ho

1M

L=
()

A

T4 2M4a A

-

AAAEZ HaZ T2 2o
R

g (3.6km), Bz 2/0&, SA2AZE 7

| SN

~—

B 204, H3ix W

%]
k=

=

M gz

E5

g A7)

o

(3.2km),
}_-

N4,

o] 3t

Kl
OH

=X I

=)

7oll

FT F'0l2tH “TAb 712t B

=2
=



AOtE NAE WA

X7} Choted

E250| SO 225 L
2AxA Y8 29

Y IP} C7pe®

H# 50| HESH XPH Hoj 7
AE TS AS 7




